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§ 1. E%atsm:

(1) HEREDHE
- SEM - AR

e o ARk = v 2 U — b id bR

(2) Hmt
- TEORE o B E— 2
- OB E : vy s=16.0 KN/m3
- N EEIE A : $=20.0°
KB : 0= 0 KN/m2

- BE T & & OBEEAS - 6=10.00°

(3) L+
77— rOHERIZE D,

(4) Fptii

- TE O D B e —

- N EE I A : $=20.0°

KB : €=20. 0 KN/m2

- FEA M 7 B : fe= 160 KN/m2 (&A1) . 300 KN/m2 (%)
- JEC I OO BEER I : pw=tan20.0° =0. 364

(5) MEIOFEIGE (FR)
27 J—F
AR AT FE TR A : 0 28=21N/mm2
FFAEMES I 0 o ca=T7. ON/mm2
PR ABISE 1t ca=0. TN/mm2
- Bk
FFABIBRISJIE ¢ 0 sa=200. ON/mm2

(6) HAIAFEEE
a7 ) — |k © yc=24.0 KN/m3



§ 5.

R CHEEE (1) DG

5—1 ffEOFE (FE)

150

#fE E 10. OKN/m2
[TTTTTITTTTITT]
98 ©) @
1, 180
1,830
35
® 15
150 1, 050
1, 200
Wi & K & D729 FAE @ =0. 00
BEFS ) & $RiELi & D73 A 0=0. 00
BE BE 4 & X H=1.33m
1) B &=
< /N £ A (2 AN & m | BEOHEEE | tE—AC b
X2 B A (n2) v (KN/m3) | WEN/m) | X (@m) | Wx(KN-m/m)
D 7=TEE | 0.150X1.330 = 0.1995 24.0 4. 7880 0.075 0. 3591
@ E R 1. 050X0. 150 = 0.1575 24.0 3. 7800 0. 675 2.5515
OIeET T
@ &m+ | 1.050% 1. 180 = 1.2390 16.0 19. 8240 0. 675 13. 3812
® it
® @it
& F X — 28. 3920 — 16. 2918

B x=XWx/XW=16.292/28. 392=0. 574m

2) b#ifmrE
A9 EE AT - - -W=10. 00 X 1. 050=10. 500KN,/m




3) BEREIZ RIFET HE

Fo Al = AR AL
KA=

cos 2(p—0)

cos 20 cos(O+§) [lJr/

sin(¢ + 6 )sin(¢p — B)

cos(B + 6)cos(9—8)
cos 2(20.00° —0.00")

}2

cos 2(0.00°) Xcos(0.00" +10.00") X [1 +/

0. 8830

sin(20. 00" +10.00") Xsin(20.00" —0.00")

1.0000X 0. 9848 X [1 +M

=0. 447

B ok s HE

0. 5000 X0. 3420

0. 9848 X 1. 0000

}2

PA=1/2-KA- y -H 2=1/2X0. 447X 16. 0 X 1. 330 2=6. 3256KN/m
PAX=PA-cos (6 + 0)=PA-cos(10. 00+0. 00) =6. 326 X 0. 9848=6. 2295KN/m

W B LS K D HE
APA=KA-q-H=0. 447 X 10. 0 X 1. 330=5. 9451KN/m

APAX=APA-cos (6 + 6 )=APA-cos (10. 00+0. 00)  =5. 945 X 0. 9848=5. 8548KN/m
T SO

PAX : y=H/3=1. 330/3=0. 443m
APAX : y=H/2=1. 330/2=0. 665m

4) fafEDOEE

cos (0. 00" +10.00") Xcos(0.00" —0.00")

— %\(i/ﬁ 71:(;;/3 Xﬁe AR (m) na; )< >k (KN;In/.m)
y X y
() 28. 3920 — 0. 574 — 16. 2918
+ 5 (PA) S 6. 2295 — 0. 443 — 2.7617
+JE (APA) S 5. 8548 — 0. 665 — 3. 8934
i FEATE | 10. 5000 — 0. 675 — 7. 0875
ATTA] b
= D) 38. 8920 12. 0843 — — 23. 3793 6. 6552

}2



5—2 WEMOWKE (W)
1) BB 2 MR

EHE— A M Mr=XV-x=23. 379KNm/m

HLfE— A >k Mo=X H:y=6. 655KNm/m

A FOVERALE d=Mr—Mo) / X V=(23. 379—6. 655) /38. 892=0. 430m

W O OB e=(B/2) —d=(1.200/2) —0.430=0. 170m < B/6=1.200/6=0.200m .. 0.K
fix B %2 4 #F F=Mr/Mo=23. 379/6.655=3.513 > 1.5 .. 0.K

HiE SRR (M) (o683 2 iR | |

i K # H £ omax=(ZV/B) - {1+ (6e/B)}
=(38.892/1.200) X {1+ (6X0. 170/1. 200) } omax/
=59. 956KN/m2 < 150. OKN/m2 .. 0.K omin

W H LIcxEd 2 e B

JEIR DA Zhalfaf ififE A’ =B-2e=1. 200 —2 X< 0. 170=0. 860m2/m

K F @ s Fn EH=12. 084KN/m

BENCSTT AHPLS) RH=C-A” + X V- 1 =20. 0 X0. 860+ 38. 892 X 0. 364=31. 357KN/m
B OE) e g F=RH/ X H=31. 357/12. 084=2.595 > 1.5 .. 0.K




5—3 ffEOFE (FE)

1,180
1, 830
W1
|
15
_m
V1 V2
150‘ 1, 050
1, 200
SERVA = QIAYIEL e

Xn=(B/2) - {1+ (B/6e) } =(1.200/2) X {1+ (1.200/6X0. 170) }=1. 306m
V1=59. 956KN/m2 V2=53. 070KN/m2 V3=4. 864KN/m2
W1=(1. 180X 16. 0) + (0. 150 X 24. 0) +10. 00=32. 480KN/m2



1) 7=ChE (&EmED2/3%E5y)

PAX=1/2-KA+y *H 2-cos (10. 00" +0. 00" )=1/2X0. 447 X 16. 0X0. 4432 X 0. 9848=0. 692KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447 X 10. 0X 0. 443 X 0. 9848=1. 952KN/m

M=PAX-n+ APAX-n={0. 692 X (0. 443/3) +1. 952 X (0. 443/2) } X 10 5=53489Ncm/m

S=PAX+ APAX=(0. 692+ 1. 952) X 10" 3=2644N/m

D=15. 00cm d=8. 3bcm j=7.306cm
at=M/ (ft-j)=53489/ (20000 X 7. 306) =0. 366cm2/m
¢ =S/ (fa-j)=2644/(140. 00X 7. 306) =2. 585cm/m

EAS D13-1547@ ———- > .. D13-200@ &5

n=15 b=100cm

p=As/ (b-d)=633. 500/ (1000 X 84)=0. 008

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 008+ (15X0. 008) "2} —15 X 0. 008=0. 364
j=1— (K/3)=1—(0. 364/3)=0. 879

Ly — b TERIS A
oc=2M/(k*j-b-d 2)=2X534890/ (0. 364 X 0. 879X 1000 X 83. 5 2)=0. 480N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
0 s=M/ (As* j-d)=534890/ (633. 500X 0. 879 X 83. 5)=11. 510N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — hOwAWS T E
7 ¢=S/(b-j-d)=2644/(1000X 0. 879 X 83. 5)=0. 040N/mm2
<t ca=0.7N/mm2 .. 0.K

2) JoCHE ([EEHER)

PAX=1/2-KA+y *H 2-cos (10. 00" +0. 00" )=1/2X0. 447 X 16. 0 X 1. 180" 2X0. 9848=4. 904KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447X 10. 0X 1. 180 X 0. 9848=5. 194KN/m

M=PAX-n+ APAX-n={4. 904 X (1. 180/3) +5. 194 X (1. 180/2) } X 10" 5=499348Ncm/m

S=PAX+ APAX=(4. 904 +5. 194) X 10 3=10098N/m

D=15. 00cm d=8. 3bcm j=7.306cm
at=M/ (ft-j)=499348/ (20000 X 7. 306)=3. 417cm2/m
¢ =S/ (fa-j)=10098/(140. 00X 7. 306) =9. 872cm/m

Ef% D13-370@ ———— > .. D13-2000 &5

n=15 b=100cm

p=As/ (b-d)=633. 500/ (1000 X 84)=0. 008

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 008+ (15X0.008) "2} —15 X 0. 008=0. 364
j=1— (K/3)=1—(0. 364/3)=0. 879

Ly — kO TERIS A
oc=2M/(k*j-b-d 2)=2X4993477/ (0. 364 X 0. 879 X 1000 X 83. 5" 2) =4. 480N,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
o s=M/ (As- j-d)=4993477/(633. 500 X 0. 879 X 83. 5)=107. 440N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — hOW WS T E
t¢=S/(b*j+-d)=10098/ (1000 X 0. 879 X 83. 5)=0. 140N/mm2
<tca=0.7N/mm2 .. 0.K



3) &R ([EEHER)

M1=(W1-B"2) /2=(32. 480 X 1. 050" 2) /2=17. 905KNm/m
S1=W1-B=32. 480 X 1. 050=34. 104KN/m

M2=(V2+2-V3) B 2/6=(53. 070+2 X 4. 864) X 1. 050 2/6=11. 539KNm/m
S2=(V2+V3) -B/2=(53. 070+4. 864) X 1. 050/2=30. 415KN/m

MZ‘MI—MZ =|17.905-11.539| X 10 5=636559Ncm/m

S=1S1-S2|=34. 104-30. 415| X 10 3=3689N/m

D=15. 00cm d=8. 3bcm j=7.306cm
at=M/ (ft- j)=636559/ (20000 X 7. 306) =4. 356cm2/m
¢ =S/ (fa-j)=3689/(140. 00X 7. 306) =3. 606cm/m

Ef% D13-290@ ———— > .. D13-2000 &35

n=15 b=100cm

p=As/ (b-d)=633. 500/ (1000 X 84)=0. 008

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 008+ (15X0. 008) "2} —15 X 0. 008=0. 364
j=1— (K/3)=1—(0. 364/3)=0. 879

L) — b TERIS A
oc=2M/(k*j-b-d 2)=2X6365588/ (0. 364 X 0. 879X 1000 X 83. 5 2)=5. 710N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
o s=M/ (As- j-d)=6365588/(633. 500 X 0. 879 X 83. 5)=136. 970N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — OV AWS T E
7 ¢=S/(b-j+-d)=3689/ (1000 X 0. 879 X 83. 5)=0. 050N/mm2
<tca=0.7N/mm2 .. 0.K

4) DR (FRED)

M1=(W1- (B/2) "2) /2=(32. 480X 0. 525" 2) /2=4. 476KNm/m

S1=W1- (B/2) /2=32. 480 X 0. 525=17. 052KN/m
M2={(V2+V3)/2+2-V3)} - (B/2) "2/6=(28.967+2X4.864) X0.525 2/6=1. 778KNm/m
S2={(V2+V3) /2+V3} - (B/2) /2=(28. 967 +4. 864) X 0. 525/2=8. 881KN/m

MZ‘MI—MZ =|4.476-1. 778| X 10" 5=269862Ncm/m
S=1S1-S2|=|17.052-8. 881 | X 10" 3=8171N/m

D=15. 00cm d=8. 3bcm j=7.306cm
at=M/ (ft-j)=269862/ (20000 X 7. 306)=1. 847cm2/m
¢ =S/ (fa-j)=8171/(140. 00X 7. 306)=7. 989cm/m

Ef% D13-5000 ———— > .. D13-200@ &5

n=15 b=100cm

p=As/ (b-d)=633. 500/ (1000 X 84)=0. 008

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 008+ (15X0. 008) "2} —15 X 0. 008=0. 364
j=1— (K/3)=1—(0. 364/3)=0. 879

CmL s — b TERIS A
oc=2M/(k*j-b-d 2)=2X2698622/ (0. 364 X 0. 879X 1000 X 83. 5 2)=2. 420N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 BRI T E
o s=M/ (As- j-d)=2698622/(633. 500 X 0. 879 X 83. 5)=58. 070N,/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — hOw WS T E
t¢=S/(b-j-d)=8171/(1000X0. 879 X 83. 5)=0. 110N/mm2
<tca=0.7N/mm2 .. 0.K



§ 1. E%atsm:

(1) HEREDHE
- SEM - AR

e o ARk = v 2 U — b id bR

(2) Hmt
- TEORE o B E— 2
- OB E : vy s=16.0 KN/m3
- N EEIE A : $=20.0°
KB : 0= 0 KN/m2

- BE T & & OB - 6=13.00°

(3) L+
77— rOHERIZE D,

(4) Fptii

- TE O D B e —

- N EE I A : $=20.0°

KB : €=20. 0 KN/m2

- FEA M 7 B : fe= 160 KN/m2 (&A1) . 300 KN/m2 (%)
- JEC I OO BEER I : pw=tan20.0° =0. 364

(5) MEIOFEIGE (FR)
27 J—F
AR AT FE TR A : 0 28=21N/mm2
FFAEMES I 0 o ca=T7. ON/mm2
PR ABISE 1t ca=0. TN/mm2
- Bk
FFABIBRISJIE ¢ 0 sa=200. ON/mm2

(6) HAIAFEEE
a7 ) — |k © yc=24.0 KN/m3



§ 5.
5—1 WEOFHE ()

R CHERE (1.3m) OXEF

200

64
#k e E 10. OKN/m2
71 0o
3 1, 660
2,010
®
1, 800
350 ® @ 35
1, 200 ZOM)LSO
1, 550
Wi & K & D729 FAE @ =0. 00
BELS I & SRTELHE & DR AE 6=0.00
BE BE 42 & X H=2.0lm
1) B &=
< /N N HirEE | #H & RN L R Sl S
X2 B A (n2) v (KN/m3) | WEN/m) | X (@m) | Wx(KN-m/m)
D 7=TEE | 0.200X2.650 = 0.5300 24. 0 12. 7200 1. 300 16. 5360
@phx E R 0. 150 X 0. 350 = 0.0525 24. 0 1. 2600 1.475 1. 8585
@ >FSehK| 1. 200X0. 350 = 0.4200 24. 0 10. 0800 0. 600 6. 0480
@ &m+ | 0.150X 1. 660 = 0.2490 16.0 3. 9840 1.475 5. 8764
® #Emt
® ®imE - | 1.200X0. 950 = 1.1400 16.0 18. 2400 0. 600 10. 9440
& F X — 46. 2840 — 41. 2629
B x=XWx/XW=41. 263/46. 284=0. 892m

2) L#ifmrE
& #E R E - - - W=10. 00 X 0. 150=1.

500KN/m




3) BEREIZ RIFET HE

T AR

cos 2(p—0)

KA=

cos 20 cos(O+§) [lJr/

ﬂM¢+6)ﬂM¢B)}2
cos(B + 6)cos(9—8)

cos 2(20.00° —0.00")

cos 2(0.00°) Xcos(0.00" +13.00") X [1 +/

0. 8830

sin(20. 00" +13.00") Xsin(20.00" —0.00")

1.0000X0. 9744 X [I%AM/

=0. 439

LI o R T w2 )
PA=1/2-KA+ y -H 2=1/2X0. 439X 16. 0X2. 010" 2=14. 1888KN/m
PAX=PA-cos (§ + 0 )=PA-cos (13. 00-+0. 00) " =14. 189X 0. 9744=13. 8252KN/m

T BT EIC L D EE
APA=KA-q-H=0. 439 X 10. 0 X 2. 010=8. 8239KN/m

APAX=APA-cos (6 + 6 )=APA-cos (13.00+0. 00)  =8. 824 X 0. 9744=8. 5977KN/m
TR O

0. 5446 X 0. 3420

0.9744 X 1. 0000

PAX : y=H/3=2.010/3=0. 670m
APAX : y=H/2=2.010/2=1. 005m

4) fafEDOEE

}2

cos(0.00° +13.00") Xcos(0.00" —0.00")

}2

— %ﬁiﬁ ;;ié? ;@%“\m) %;5/%«iim
y X y

() 46. 2840 — 0. 892 — 41. 2629 —
+ £ (PA) — 13. 8252 — 0. 670 — 9. 2629
+JE (APA) S 8. 5977 — 1. 005 — 8. 6407
1A A 1. 5000 — 1. 475 — 2.2125 —
AT - Ay B

= D) 47. 7840 22. 4229 — — 43. 4754 17.9036




5—2 WEMOWKE (W)
1) BB 2 MR

EHE— A2 N Mr=2V-x=43. 475KNm/m

L — A > Mo=XH:y=17. 904KNm/m

AT OVERALE d=Mr—Mo) /X V=(43. 475—17. 904) /47. 784=0. 535m

W O M OBf e=(B/2) —d=(1.550/2) —0.535=0. 240m < B/6=1.550/6=0.258m .. 0.K
g B % 4 3 F=Mr/Mo=43.475/17.904=2.428 > 1.5 .. 0.K

HiE SRR (M) (o683 2 iR | |

i K # £ omax=(ZV/B)- {1+ (6e/B)}
=(47.784/1.550) X {1+ (6X0. 240/1. 550) } omax/
=59. 451KN/m2 < 150. OKN/m2 .. 0.K omin

W H LIcxEd 2 e B

JEIR DA Zhaifaf ififE A’ =B-2e=1. 550 —2 X 0. 240=1. 070m2/m

K J D f T EH=22. 423KN/m

BENCST T AHPLS) RH=C-A" + XV 1 =20. 0X 1. 070+47. 784 X 0. 364=38. 800KN/m
R 7 o S 5% F=RH/ ¥ H=38. 800/22. 423=1.730 > 1.5 .. 0.K




5—3 ffEOFE (FE)

64

1, 660

2,010
W3 -l
35
V1
1, 200 LO(JS
1, 550

W7l & C O RREE

Xn=(B/2) - {1+ (B/6e) } =(1.550/2) X {1+ (1. 550/6X0. 240) }=1. 610m
V1=59. 451KN/m2 V4=15. 132KN/m2 V2=7. 746KN/m2 V3=2. 206KN/m2

W1=(1.660X16.0) -+ (0. 350 X 24. 0) +10. 00=44. 960KN,/m2
W3=(0. 950X 16. 0) + (0. 350 X 24. 0) +0. 00=23. 600KN,/m2



1) 7=ChE (&EmED2/3%E5y)

PAX=1/2-KA+y *H 2-cos(13. 00" +0. 00" )=1/2X0. 439X 16. 0X0. 670 2X0. 9744=1. 536KN/m
APAX=KA-q-H-cos (13. 00" +0. 00" )=0. 439X 10. 0X0. 670X 0. 9744=2. 866KN/m

M=PAX-n+ APAX-n={1. 536 X (0. 670/3) +2. 866 X (0. 670/2) } X 10 5=130315Ncm/m

S=PAX+ APAX=(1.536+2. 866) X 10 3=4402N/m

D=20. 00cm d=13. 35cm j=11.681cm
at=M/(ft-j)=130315/(20000 X 11. 681)=0. 558cm2/m
¢ =S/ (fa-j)=4402/(140. 00X 11. 681) =2. 692cm/m

FAS D13-1486@ ————— > .. D13-300@ &35

n=15 b=100cm

p=As/ (b-d)=422. 333/ (1000 X 134) =0. 003

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 003+ (15X0.003) "2} —15X0. 003=0. 261
j=1— (K/3)=1—(0.261/3)=0.913

Cmv s — b TERIS A
oc=2M/(k*j-b-d 2)=2X1303151/(0.261%0.913X1000X133.5 2)=0. 610N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
o s=M/(As*j-d)=1303151/(422. 333X 0.913 X 133. 5)=25. 310N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — hOwAWS T E
t¢=S/(b*j-d)=4402/(1000X0. 913X 133. 5)=0. 040N/mm2
<t ca=0.7N/mm2 .. 0.K

2) JoCHE ([EEHER)

PAX=1/2-KA+y *H 2-cos(13.00" +0. 00" )=1/2X0. 439X 16. 0X 1. 660" 2X0. 9744=9. 430KN/m
APAX=KA-q-H-cos (13. 00" +0. 00" )=0. 439X 10. 0X 1. 660 X 0. 9744=7. 101KN/m

M=PAX-n+ APAX-n=1{9. 430 X (1. 660/3) +7. 101X (1.660/2) } X 10 5=1111125Ncm/m

S=PAX+ APAX=(9. 430+7. 101) X 10 3=16530N/m

D=20. 00cm d=13. 35cm j=11.681cm
at=M/(ft-j)=1111125/(20000 X 11. 681)=4. 756cm2/m
¢ =S/ (fa-j)=16530/(140. 00X 11. 681)=10. 108cm/m

Flf% D13-266@ ————— > .. DI3-150@0 &35

n=15 b=100cm

p=As/ (b-d)=844. 667/ (1000 X 134) =0. 006

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 006+ (15X0. 006) "2} —15X0. 006=0. 341
j=1— (K/3)=1—1(0. 341/3)=0. 886

CmL s — b TERIS A
oc=2M/(k*j-b-d 2)=2X11111250/ (0. 341X 0. 886X 1000 X 133. 5" 2) =4. 120N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
0 s=M/(As*j-d)=11111250/ (844. 667 X 0. 886 % 133.5)=111. 190N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — hOW WS T E
7 ¢=S/(b-j-d)=16530/ (1000 X 0. 886 X 133. 5)=0. 140N/mm2
<tca=0.7N/mm2 .. 0.K



3) &R ([EEHER)

M1=(W1-B"2) /2=(44. 960 X 0. 150" 2) /2=0. 506KNm/m
S1=W1-B=44. 960 X 0. 150=6. 744KN/m

M2=(V2+2-V3) -B"2/6=(7. 746+2 X 2. 206) X 0. 150 2/6=0. 046KNm/m
S2=(V2+V3) -B/2=(7. 746 +2. 206) X 0. 150/2=0. 746KN/m

MZ‘MI—MZ =10.506-0. 046 | X 10 5=46021Ncm/m

S=1S1-S2|=|6. 744-0. 746 | X 10 3=5998N/m

D=35. 00cm d=28. 35cm j=24.806cm
at=M/ (ft-j)=46021/ (20000 X 24. 806) =0. 093cm2/m
¢ =S/ (fa-j)=5998/(140. 00 X 24. 806) =1. 727cm/m

EAS D13-2316@ ———— > .. D13-300@ &35

n=15 b=100cm

p=As/ (b-d)=422. 333/ (1000 X 284)=0. 001

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 001+ (15X0.001) "2} —15X0. 001=0. 189
j=1— (K/3)=1— (0. 189/3)=0. 937

a2y — b TERIS A
oc=2M/(k*j-b-d 2)=2X460206/ (0. 189X 0. 937 X 1000 X 283. 5" 2) =0. 060N,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
0 s=M/ (As* j-d)=460206/ (422. 333 X 0. 937 X 283. 5)=4. 100N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
t ¢=S/(b*j+-d)=5998/ (1000 X 0. 937 X 283. 5)=0. 020N/mm2
<tca=0.7N/mm2 .. 0.K



5) >FJehic ([EEH)

M1=(W3-B0 2) /2=(23. 600X 1. 200 2) /2=16. 992KNm/m
S1=W3-B0=23. 600 X 1. 200=28. 320KN/m

M2=(V4+2-V1) -B0 2/6=(15. 132+2X59. 451) X1.200 2/6=32. 168KNm/m
S2=(V4+V1) -B0/2=(15. 132+59. 451) X 1. 200/2=44. 7T50KN/m

MZ‘MI—MZ =116.992-32. 168 | X 10 5=1517604Ncm/m

S=1S1-S2|=28. 320-44. 750 | X 10 3=16430N/m

D=35. 00cm d=28. 35cm j=24.806cm
at=M/(ft-j)=1517604/ (20000 X 24. 806) =3. 059cm2,/m
¢ =S/ (fa-j)=16430/(140. 00 X 24. 806) =4. 731cm/m

Ef% D13-414@ ———— > .. D13-300@ &5

n=15 b=100cm

p=As/ (b-d)=422. 333/ (1000 X 284)=0. 001

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15x0.001+15X%0.001) 2} —15X0. 001=0. 189
j=1— (K/3)=1— (0. 189/3)=0. 937

CmL s — ko TERIS A
oc=2M/(k*j-b-d 2)=2X15176040/ (0. 189X 0. 937 X 1000 X 283. 5" 2) =2. 130N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
o s=M/ (As-j-d)=15176040/ (422. 333 X 0. 937 X 283. 5)=135. 280N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
7 ¢=S/(b-j-d)=16430/ (1000 X 0. 937 X 283. 5)=0. 060N/mm2
<tca=0.7N/mm2 .. 0.K

6) >FEJC (FRE)

M1=(W3- (B0/2) "2) /2=(23. 600 X 0. 600" 2) /2=4. 248KNm/m
S1=W3-B0/2=23. 600 X 0. 600=14. 160KN/m
M2={(V4+V1)/2+2-V1)} - (B0/2) 2/6=(37.291+2Xx59.451) X0.600 2/6=9. 372KNm/m
S2={(V4+V1) /2+V1} -B0/2=(37. 291 +59. 451) X 0. 600/2=29. 023KN/m

MZ‘MI—MZ =4.248-9. 372| X 10" 5=512356Ncm/m

S=1S1-S2|=|14. 160-29. 023 | X 10" 3=14863N/m

D=35. 00cm d=28. 35cm j=24.806cm
at=M/ (ft-j)=512356/ (20000 X 24. 806)=1. 033cm2/m
¢ =S/ (fa-j)=14863/(140. 00 X 24. 806) =4. 280cm/m

Ef% D13-934@ ———— > .. D13-300@ &5

n=15 b=100cm

p=As/ (b-d)=422. 333/ (1000 X 284)=0. 001

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 001+ (15X0.001) "2} —15X0. 001=0. 189
j=1— (K/3)=1— (0. 189/3)=0. 937

Ly — b TERIS A
oc=2M/(k*j-b-d 2)=2X5123556/ (0. 189 X 0. 937 X 1000 X 283. 5" 2)=0. 720N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 HEI T E
o s=M/ (As- j-d)=5123556/(422. 333 X 0. 937 X 283. 5) =45. 670N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW WS T E
7 ¢=S/(b-j-d)=14863/ (1000 X 0. 937 X 283. 5)=0. 060N/mm2
<tca=0.7N/mm2 .. 0.K



§ 1. E%atsm:
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e o ARk = v 2 U — b id bR

(2) Hmt
- TEORE o B E— 2
- OB E : vy s=16.0 KN/m3
- N EEIE A : $=20.0°
KB : 0= 0 KN/m2

- BE T & & OBEEAS - 6=10.00°

(3) L+
77— rOHERIZE D,

(4) Fptii

- TE O D B e —

- N EE I A : $=20.0°

KB : €=20. 0 KN/m2

- FEA M 7 B : fe= 160 KN/m2 (&A1) . 300 KN/m2 (%)
- JEC I OO BEER I : pw=tan20.0° =0. 364

(5) MEIOFEIGE (FR)
27 J—F
AR AT FE TR A : 0 28=21N/mm2
FFAEMES I 0 o ca=T7. ON/mm2
PR ABISE 1t ca=0. TN/mm2
- Bk
FFABIBRISJIE ¢ 0 sa=200. ON/mm2

(6) HAIAFEEE
a7 ) — |k © yc=24.0 KN/m3



§ 5.

5—1 fWED

3, 650

R CHERE (1.3m) OXEF

AtE (R

400

#fE E 10, OKN/m2
[TTTTTITTTITT]

3, 800
4,200
550 400 | @ 40
2,900 400| 700
4, 000
Wi & K & D729 FAE @ =0. 00
BELS I & SRTELHE & D72 A 6=0.00
BE B & & X H=4.20m
1) B &=
< /N N HirEE | #H & RN L R Sl S
X2 B A (n2) v (KN/m3) | WEN/m) | X (@m) | Wx(KN-m/m)
@ 7=THEE | 0.400X4. 200 = 1.6800 24. 0 40. 3200 3.100 | 124.9920
@p3hx E R 0. 700 X 0. 400 = 0.2800 24. 0 6. 7200 3. 650 24. 5280
@ > FSEhK| 2. 900X0. 400 = 1.1600 24. 0 27. 8400 1. 450 40. 3680
@ 1 | 0.700%3. 800 = 2.6600 16.0 42. 5600 3.650 | 155. 3440
® #Emt
® @it
& F X — 117. 4400 — 345. 2320
B x=XWx/XW=345.232/117. 440=2. 940m
2) b#HifmrE

i _E#r B - - - W=10. 00 X 0. 700=7. 000KN/m




3) BEREIZ RIFET HE

T AR

cos 2(p—0)

KA=

cos 20 cos(O+§) [lJr/

ﬂM¢+6)ﬂM¢B)}2
cos(B + 6)cos(9—8)

cos 2(20.00° —0.00")

cos 2(0.00°) Xcos(0.00" +10.00") X [1 +/

0. 8830

sin(20. 00" +10.00") Xsin(20.00" —0.00")

1.0000X 0. 9848 X [1 +M

=0. 447

B ok s HE

0. 5000 X0. 3420

0. 9848 X 1. 0000

}2

PA=1/2-KA- y -H 2=1/2X0. 447 X 16. 0 X 4. 200 2=63. 0807KN/m
PAX=PA-cos (6 + 0)=PA-cos(10. 00+0. 00) =63. 081 X 0. 9848=62. 1223KN/m

B LS K D HE
APA=KA-q-H=0. 447 X 10. 0 X 4. 200=18. 7740KN/m

APAX=APA-cos (§ + 0)=/\PA-cos (10. 00+0. 00) =18. 774 X 0. 9848=18. 4888KN/m
TR O

PAX : y=H/3=4. 200/3=1. 400m
APAX : y=H/2=4. 200/2=2. 100m

4) fafEDOEE

cos (0. 00" +10.00") Xcos(0.00" —0.00")

— 0 A | Ak E A EH A (m) F—A bk (KN*m/m)
V (KN/m) | H (KN/m) X y V- x H-y

H =W 117. 4400 — 2. 940 — 345. 2320 —
+J£ (PA) — 62. 1223 — 1. 400 — 86.9712
+JE (APA) — 18. 4888 — 2. 100 — 38. 8264
5 b ey 7.0000 — 3. 650 — 25. 5500 —
AT sy B

(DY 124. 4400 80. 6111 — — 370.7820 | 125.7977

}2



5—2 WEMOWKE (W)
1) BB 2 MR

KHE— A > Mr=XV-x=370. 782KNm/m

B E— A >k Mo=X H-y=125. 798KNm/m

A FOVERALE d=Mr—Mo) / X V=(370. 782—125. 798) /124. 440=1. 969m

W O M OBf e=(B/2) —d=(4.000/2) —1.969=0. 031m < B/6=4.000/6=0.667m .. 0.K
g B % 4 3 F=Mr/Mo=370.782/125.798=2.947 > 1.5 .. 0.K

HiE SRR (M) (o683 2 iR | |

i K # H £ omax=(ZV/B)- {1+ (6e/B)}
=(124. 440/4. 000) X {1+ (6> 0. 031/4. 000) } omax/
=32.571KN/m2 < 150. OKN/m2 .. 0.K omin

B HLIcxtd 2 RET B

JEIR DA Zhalfaf fifE A’ =B-2e=4. 000 —2 X 0. 031=3. 937m2/m

K F @ f Fn EH=80. 611KN/m

BENC ST T AP RH=C-A" + X V- 1 =20. 0X 3. 937+ 124. 440 X 0. 364=124. 044KN/m
R 7 o > 5% F=RH/ X H=124. 044/80. 611=1.539 > 1.5 .. 0.K




5—3 ffEOFE (FE)

3, 800
4,200

W3 |

40

1
V1 v vz V3
2,900 400‘ 700

4, 000

137l & T oD R
Xn=(B/2) - {1+ (B/6e) } = (4. 000/2) X {1+ (4.000/6x0. 031) } =44. 591m

V1=32. 571KN/m2 V4=30. 453KN/m2 V2=30. 160KN/m2 V3=29. 649KN/m2

W1=(3.800X16.0) -+ (0. 400 X 24. 0) +10. 00=80. 400KN,/m2
W3=(0. 150X 16. 0) + (0. 400 X 24. 0) +0. 00=9. 600KN,/m2



1) 7=ChE (&EmED2/3%E5y)

PAX=1/2-KA+y *H 2-cos (10. 00" +0. 00" )=1/2X0. 447 X 16. 0 X 1. 4002 X 0. 9848=6. 902KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447 X 10. 0X 1. 400 X 0. 9848=6. 163KN/m

M=PAX-n+ APAX-n={6. 902 X (1. 400/3) +6. 163X (1.400/2) } X 10 5=753521Ncm/m

S=PAX+ APAX=(6. 902+6. 163) X 10 3=13065N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/(ft-j)=753521/(20000 X 29. 050)=1. 297cm2/m
¢ =S/ (fa-j)=13065/(140. 00X 29. 050) =3. 213cm/m

EAS D16-1531@ ———— > .. D16-200@ &5

n=15 b=100cm

p=As/ (b-d)=993. 000/ (1000 X 332) =0. 003

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2x15x0. 003+ (15X0. 003) "2} —15X0. 003=0. 255
j=1— (K/3)=1— (0. 255/3)=0. 915

CmL s — b TERIS A
oc=2M/(k*j-b-d 2)=2X7535206/ (0. 255X 0. 915X 1000 X 332. 0" 2)=0. 590N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
o s=M/ (As* j-d)=7535206/(993. 000 X 0. 915X 332. 0) =24. 980N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
7 ¢=S/(b-j+d)=13065/ (1000 % 0. 915 X 332. 0)=0. 040N/mm2
<tca=0.7N/mm2 .. 0.K

2) JoCHE ([EEHER)

PAX=1/2-KA+ y H 2-cos (10. 00" +0. 00" )=1/2X<0. 447 X 16. 0X 3. 800 2 X 0. 9848=50. 853KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447 X 10. 0X 3. 800 X 0. 9848=16. 728KN/m

M=PAX-n+ APAX-n={50. 853 X (3. 800/3) +16. 728 X (3. 800/2) } X 10 5=9619685Ncm/m

S=PAX+ APAX=(50. 853+ 16. 728) X 10 3=67581N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=9619685/ (20000 X 29. 050)=16. 557cm2/m
¢ =S/ (fa-j)=67581/(140. 00X 29. 050) =16. 617cm/m

Ef5 D16-119@ ———— > .. D16-100@ &35

n=15 b=100cm

p=As/ (b-d)=1986. 000/ (1000 X 332)=0. 006

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2x15x0. 006+ (15X0. 006) "2} —15X0. 006=0. 335
j=1— (K/3)=1— (0. 335/3)=0. 888

a2y — b TERIS A
oc=2M/(k*j-b-d 2)=2X96196850/ (0. 335X 0. 888X 1000 X 332. 0" 2) =5. 870N,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 BRI T E
0 s=M/ (As* j-d)=96196850/ (1986. 000 X 0. 888 X 332. 0) =164. 210N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW WS T E
7 ¢=S/(b-j-d)=67581/ (1000 X 0. 888 X 332. 0)=0. 230N/mm2
<t ca=0.7N/mm2 .. 0.K



3) &R ([EEHER)

M1=(W1-B"2) /2=(80. 400 X 0. 700" 2) /2=19. 698KNm/m
S1=W1-B=80. 400 X 0. 700=56. 280KN,/m

M2=(V2+2-V3) -B"2/6=(30. 160+2 X 29. 649) X 0. 700 2/6=7. 306KNm/m
S2=(V2+V3) -B/2=(30. 160+29. 649) X 0. 700/2=20. 933KN/m

MZ‘MI—MZ =19. 698-7. 306 | X 10" 5=1239221Ncm/m
S=1S1-S2|=|56.280-20. 933 | X 10" 3=35347N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=1239221/ (20000 X 29. 050) =2. 133cm2/m
¢ =S/ (fa-j)=35347/(140. 00X 29. 050) =8. 691cm/m

Fcf% D13,D16-517@ ———— > .. D13,D16-100@ &%

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 332)=0. 005

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 005+ (15X0. 005) "2} —15 X 0. 005=0. 310
j=1— (K/3)=1— (0. 310/3)=0. 897

vy — b TERIS A
oc=2M/(k*j-b-d 2)=2x12392210/ (0. 310X 0. 897 X 1000 X 332. 0" 2)=0. 810N,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
o s=M/ (As-j-d)=12392210/ (1626. 500 X 0. 897 X 332. 0) =25. 600N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
7 ¢=S/(b-j-d)=35347/ (1000 X 0. 897 X 332. 0)=0. 120N/mm2
<tca=0.7N/mm2 .. 0.K



5) >FJehic ([EEH)

M1=(W3-B0 2) /2=(9. 600 X 2. 900" 2) /2=40. 368KNm/m

S1=W3-B0=9. 600 X 2. 900=27. 840KN/m

M2=(V4+2-V1) -B0O 2/6=(30. 453 +2 X 32. 571) X 2. 900 2/6=133. 992KNm/m
S2=(V4+V1) -B0/2=(30. 4563 +32. 571) X 2.900/2=91. 384KN/m

MZ‘MI—MZ =140. 368-133. 992 | X 10" 5=9362345Ncm/m
S=1S1-S2|=|27.840-91. 384 | X 10" 3=63544N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=9362345/ (20000 X 29. 050)=16. 114cm2/m
¢ =S/ (fa- j)=63544/(140. 00X 29. 050) =15. 624cm/m

Bdfs D13,D16-100@ ————— > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 332) =0. 005

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15xX0. 005+ 15X0.005) 2} —15X0. 005=0. 310
j=1— (K/3)=1— (0. 310/3)=0. 897

Ly — b TERIS A
oc=2M/(k*j-b-d 2)=2X93623450/ (0. 310X 0. 897 X 1000 X 332. 0" 2)=6. 110N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
0 s=M/ (As- j-d)=93623450/ (1626. 500 X 0. 897 X 332. 0)=193. 380N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — OV AWS T E
7 ¢=S/(b-j+-d)=63544/ (1000 X 0. 897 X 332. 0)=0. 210N/mm2
<tca=0.7N/mm2 .. 0.K

6) >FEJeh (FRE)

M1=(W3- (B0/2) "2) /2=(9. 600X 1. 450" 2) /2=10. 092KNm/m

S1=W3-B0/2=9. 600 X 1. 450=13. 920KN/m

M2={(V4+V1)/2+2-V1)} - (B0/2) "2/6=(31.512+2X32.571) X 1. 450 2/6=33. 869KNm/m
S2={(V4+V1) /2+V1}-B0/2=(31. 512+32. 571) X 1. 450/2=46. 460KN/m

MZ‘MI—MZ =110. 092-33. 869 | X 10 5=2377700Ncm/m

S=1S1-S2|=13.920-46. 460 | X 10 3=32540N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=2377700/ (20000 X 29. 050) =4. 092cm2/m
¢ =S/ (fa- j)=32540/(140. 00X 29. 050) =8. 001cm/m

Bdfs D13,D16-397@ ————— > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 332) =0. 005

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 005+ (15X0. 005) "2} —15X0. 005=0. 310
j=1— (K/3)=1— (0. 310/3)=0. 897

vy — b TERIS A
oc=2M/(k*j-b-d 2)=2Xx23777000/ (0. 310X 0. 897 X 1000 X 332. 0" 2)=1. 550N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
0 s=M/ (As* j-d)=23777000/ (1626. 500 X 0. 897 X 332. 0) =49. 110N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW WS T E
7 ¢=S/(b-j-d)=32540/ (1000 X 0. 897 X 332. 0)=0. 110N/mm2
<tca=0.7N/mm2 .. 0.K



§ 1. E%atsm:

(1) HEREDHE
- SEM - AR

e o ARk = v 2 U — b id bR

(2) Hmt
- TEORE o B E— 2
- OB E : vy s=16.0 KN/m3
- N EEIE A : $=20.0°
KB : 0= 0 KN/m2

- BE T & & OBEEAS - 6=10.00°

(3) L+
77— rOHERIZE D,

(4) Fptii

- TE O D B e —

- N EE I A : $=20.0°

KB : €=20. 0 KN/m2

- FEA M 7 B : fe= 160 KN/m2 (&A1) . 300 KN/m2 (%)
- JEC I OO BEER I : pw=tan20.0° =0. 364

(5) MEIOFEIGE (FR)
27 J—F
AR AT FE TR A : 0 28=21N/mm2
FFAEMES I 0 o ca=T7. ON/mm2
PR ABISE 1t ca=0. TN/mm2
- Bk
FFABIBRISJIE ¢ 0 sa=200. ON/mm2

(6) HAIAFEEE
a7 ) — |k © yc=24.0 KN/m3



§ 5.
5—1 WEOFHE ()

R CHERE (1.3m) OXEF

400

#kfE E 10. OKN/m2
EEEEEEEEEEEE
2, B60 O |@
3,B10
3, 660
1, 800
\350 \ ® 6 35
2,900 400350
3, 650
Wi & K & D729 FAE @ =0. 00
BELS I & SRTELHE & D72 A 6=0.00
BE BE 4 & X H=3.66m
1) B &=
< /N N HirEE | #H & RN L R Sl S
X2 B A (n2) v (KN/m3) | WEN/m) | X (@m) | Wx(KN-m/m)
D 7=TEE | 0.400X3. 660 = 1. 4640 24. 0 35. 1360 3.100 | 108.9216
@p3hx E R 0. 350 X 0. 350 = 0.1225 24. 0 2. 9400 3. 475 10. 2165
@ > FSEhK| 2. 900X%0. 350 = 1.0150 24. 0 24. 3600 1. 450 35. 3220
@ &m+ | 0.350%3.310 = 1.1585 16.0 18. 5360 3. 475 64. 4126
® #Emt
® @it
& F X — 80.9720 — 218. 8727
B x=XWx/XW=218.873/80.972=2. 703m
2) b#ifmrE

i _E#fer B - - - W=10. 00 X 0. 350=3. 500KN/m




3) BEREIZ RIFET HE

T AR

cos 2(p—0)

KA=

cos 20 cos(O+§) [lJr/

ﬂM¢+6)ﬂM¢B)}2
cos(B + 6)cos(9—8)

cos 2(20.00° —0.00")

cos 2(0.00°) Xcos(0.00" +10.00") X [1 +/

0. 8830

sin(20. 00" +10.00") Xsin(20.00" —0.00")

1.0000X 0. 9848 X [I%AM/

=0. 447

LI o R T w2 )
PA=1/2-KA+ y -H 2=1/2X0. 447 X 16. 0 X 3. 660" 2=47. 9027KN/m
PAX=PA-cos (§ + 0 )=PA-cos (10. 00-+0. 00)  =47. 903 X 0. 9848=47. 1749KN/m

T BT EIC & D EE
APA=KA-q-H=0. 447 X 10. 0 X 3. 660=16. 3602KN/m

APAX=APA-cos (§ + 0)=/\PA-cos (10. 00+0. 00) =16. 360 X 0. 9848=16. 1117KN/m
TR R DAL

0. 5000 X0. 3420

0. 9848 X 1. 0000

PAX : y=H/3=3. 660/3=1. 220m
APAX : y=H/2=3.660/2=1. 830m

4) fafEDOEE

}2

cos (0. 00" +10.00") Xcos(0.00" —0.00")

— 0 A | Ak E A EH A (m) F—A bk (KN*m/m)
V (KN/m) | H (KN/m) X y V- x H-y

() 80. 9720 — 2. 703 — 218. 8727 —
+ £ (PA) — 47. 1749 — 1. 220 — 57. 5534
+ £ (APA) — 16. 1117 — 1.830 — 29. 4843
A 1] b 3. 5000 — 3. 475 — 12. 1625 —
ATTA] b

= D) 84. 4720 63. 2866 — — 231. 0352 87. 0377

}2



5—2 WEMOWKE (W)
1) BB 2 MR

KHE— A2 F Mr=XV-x=231. 035KNm/m

L — A > Mo=X H-y=87. 038KNm/m

AT DOVERALE d=Mr—Mo) / X V=(231. 035—87. 038) /84. 472=1. 705m

W O M OB e=(B/2) —d=(3.650/2) —1.705=0. 120m < B/6=3.650/6=0.608m .. 0.K
fix B %2 4 #F F=Mr/Mo=231. 035/87.038=2.654 > 1.5 .. 0.K

HiE SRR (M) (o683 2 iR | |

B K # H £ omax=(ZV/B) - {1+ (6e/B)}
=(84.472/3.650) X {1+ (6X0. 120/3. 650) } omax/
=27. T20KN/m2 < 150. OKN/m2 .. 0.K omin

W H LIcxtd 2 ET B

JEIR DA Zhalfaf fifE A’ =B-2e=3. 650 —2 0. 120=3. 409m2/m

K F @ f T EH=63. 287KN/m

BENCSTT AHPLS) RH=C-A" + X V- 1 =20. 0X 3. 409+ 84. 472 X 0. 364=98. 935KN/m
R 7 o > 5% F=RH/ ¥ H=98. 935/63. 287=1.563 > 1.5 .. 0.K




5—3 ffEOFE (FE)

3,810
3, 660
W1
W3
35
V1 v V2 V3
2, 900 400 ‘350
3, 650
HiSZih S C o R

Xn=(B/2) - {1+ (B/6e) } = (3. 650/2) X {1+ (3.650/6X0. 120) }=11. 052m
V1=27. 720KN/m2 V4=20. 447KN/m2 V2=19. 443KN/m2 V3=18. 566KN/m2

W1=(3.310X16.0) -+ (0. 350X 24. 0) +10. 00=71. 360KN/m2
W3=(0. 950X 16. 0) + (0. 350 X 24. 0) +0. 00=8. 400KN,/m2



1) 7=ChE (&EmED2/3%E5y)

PAX=1/2-KA+y *H 2-cos (10. 00" +0. 00" )=1/2X0. 447 X 16. 0 X 1. 2202 X 0. 9848=5. 242KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447 X 10. 0X 1. 220 X 0. 9848=5. 371KN/m

M=PAX-n+ APAX-n=1{5. 242 X (1. 220/3) +5. 371 X (1. 220/2) } X 10 5=540764Ncm/m

S=PAX+ APAX=(5. 242+5. 371) X 10 3=10612N/m

D=40. 00cm d=33. 35cm j=29. 181cm
at=M/(ft-j)=540764/ (20000 X 29. 181)=0. 927cm2/m
¢ =S/ (fa-j)=10612/(140. 00X 29. 181) =2. 598cm/m

EAS D13-1367@ ———— > .. D13-200@ &5

n=15 b=100cm

p=As/ (b-d)=633. 500/ (1000 X 334) =0. 002

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 002+ (15X0.002) "2} —15X0. 002=0. 210
j=1— (K/3)=1—1(0.210/3)=0. 930

Ly — b TERIS A
oc=2M/(k*j-b-d 2)=2X5407643/ (0. 210X 0. 930 X 1000 X 333. 5 2)=0. 500N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
o s=M/ (As- j-d)=5407643/(633. 500 X 0. 930 X 333. 5)=27. 530N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
t¢=S/(b-j-d)=10612/ (1000 % 0. 930 X 333. 5)=0. 030N/mm2
<tca=0.7N/mm2 .. 0.K

2) JoCHE ([EEHER)

PAX=1/2-KA+ y H 2-cos (10. 00" +0. 00" )=1/2X0. 447 X 16. 0X 3. 310" 2X 0. 9848=38. 584KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447X 10. 0X 3. 310X 0. 9848=14. 571KN/m

M=PAX-n+ APAX-n={38. 584 X (3. 310/3) +14. 571X (3. 310/2) } X 10 5=6668566Ncm/m

S=PAX+ APAX=(38. 584+ 14. 571) X 10 3=53155N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft- j)=6668566/ (20000 X 29. 050)=11. 478cm2/m
¢ =S/ (fa- j)=53155/(140. 00X 29. 050) =13. 070cm/m

Bdfs D13,D16-141@ ————— > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 332)=0. 005

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 005+ (15X0. 005) "2} —15X0. 005=0. 310
j=1— (K/3)=1— (0. 310/3)=0. 897

vy — kO TERIS A
oc=2M/(k*j-b-d 2)=2X66685660/(0.310X0.897 X 1000X332. 0 2)=4. 350N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
0 s=M/ (As- j-d)=66685660/ (1626. 500 X 0. 897 X 332. 0)=137. 740N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — hOw WS T E
7 ¢=S/(b-j+-d)=53155/ (1000 X 0. 897 X 332. 0)=0. 180N/mm2
<tca=0.7N/mm2 .. 0.K



3) &R ([EEHER)

Mi=(W1-B"2)/2=(71. 360X 0. 350"2) /2=4. 371KNm/m
S1=W1-B=71. 360 X 0. 350=24. 976KN/m

M2=(V2+2-V3) -B"2/6=(19. 443+2 X 18. 566) X 0. 350°2/6=1. 155KNm/m
S2=(V2+4V3) -B/2=(19. 443+ 18. 566) X 0. 350/2=6. 652KN/m

M:‘MI—MZ =[4.371-1. 155| X 1075=321574Ncm/m

S=/S1-S2|=24. 976-6. 652| X 10"3=18324N/m

D=35. 00cm d=28. 20cm Jj=24.675cm
at=M/ (ft-j)=321574/(20000 X 24. 675) =0. 652cm2/m
¢ =S/ (fa-j)=18324/(140. 00 X 24. 675) =5. 305cm/m

Blfs D13,D16-848@ ———— > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 282)=0. 006

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 006+ (15X0. 006) "2} —15 X 0. 006=0. 330
j=1— (K/3)=1—(0. 330/3)=0. 890

L2 — O RS A A
oc=2M/(k*j-b-d 2)=2x3215738/ (0. 330X 0. 890 X 1000 X 282. 0" 2)=0. 280N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 HEIS T E
o s=M/ (As- j-d)=3215738/(1626. 500 X 0. 890 X 282. 0) =7. 880N,/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — OV AWS T E
7 ¢=S/(b-j-d)=18324/ (1000 X 0. 890 X 282. 0) =0. 070N/mm2
<t ca=0.7N/mm2 .. 0.K



5) >FJehic ([EEH)

M1=(W3-B0 2) /2=(8. 400 X 2. 900 2) /2=35. 322KNm/m
S1=W3-B0=8. 400 X 2. 900=24. 360KN/m

M2=(V4+2-V1) B0 2/6=(20. 447 +2 X 27. 720) X 2. 900 2/6=106. 369KNm/m
S2=(V4+V1) -B0/2=(20. 447+ 27. 720) X 2. 900/2=69. 842KN/m

MZ‘MI—MZ =|35.322-106. 369 | X 10" 5=7104722Ncm/m

S=1S1-S2|=|24. 360-69. 842 | X 10" 3=45482N/m

D=35. 00cm d=28. 20cm Jj=24.675cm
at=M/ (ft-j)=7104722/ (20000 X 24. 675) =14. 397cm2/m
¢ =S/ (fa- j)=45482/(140. 00X 24. 675) =13. 166cm/m

Bdfs D13,D16-112@ ————— > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 282)=0. 006

k=sqr{2n-p+ (n*p) 2} —n-p=sqr{2x15X0. 006+ 15X0.006) 2} —15X0. 006=0. 330
j=1— (K/3)=1—(0. 330/3)=0. 890

a3y — b TERIS A
oc=2M/(k*j-b-d 2)=2X71047220/ (0. 330X 0. 890 X 1000 X 282. 0" 2) =6. 0S8ON,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
0 s=M/(As*j-d)=71047220/ (1626. 500 X 0. 890 X 282. 0) =174. 050N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — OV AWS T E
7 ¢c=S/(b-j-d)=45482/ (1000 X 0. 890 X 282. 0) =0. 180N/mm2
<tca=0.7N/mm2 .. 0.K

6) >FEJeh (FRE)

M1=(W3- (B0O/2) "2) /2=(8. 400X 1. 450" 2) /2=8. 831KNm/m
S1=W3-B0/2=8. 400 X 1. 450=12. 180KN/m
M2={(V4+V1)/2+2-V1)} - (B0O/2) "2/6=(24.084+2X27.720) X 1. 450 2/6=27. 867KNm/m
S2={(V4+V1) /2+V1} -B0/2=(24. 084 +27. 720) X 1. 450/2=37. 558KN/m

MZ‘MI—MZ =|8.831-27.867| X 10" 5=1903624Ncm/m

S=1S1-S2|=|12. 180-37. 558 | X 10" 3=25378N/m

D=35. 00cm d=28. 20cm Jj=24.675cm
at=M/ (ft-j)=1903624/ (20000 X 24. 675)=3. 857cm2/m
¢ =S/ (fa-j)=25378/(140. 00 X 24. 675) =7. 346cm/m

Bdfs D13,D16-421@ ————— > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 282)=0. 006

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2x15X0. 006+ (15X0. 006) "2} —15 X 0. 006=0. 330
j=1— (K/3)=1—(0. 330/3)=0. 890

a3y — kO TERIS A
o c=2M/(k*j-b-d 2)=2%x19036240/ (0. 330X 0. 890 X 1000 X 282. 0" 2)=1. 630N,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI OB HEIS T E
0 s=M/ (As* j-d)=19036240/ (1626. 500 X 0. 890 X 282. 0) =46. 630N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW WS T E
7 ¢=S/(b-j-d)=25378/ (1000 X 0. 890 X 282. 0) =0. 100N/mm2
<tca=0.7N/mm2 .. 0.K



§ 1. E%atsm:

(1) HEREDHE
- SEM - AR

e o ARk = v 2 U — b id bR

(2) Hmt
- TEORE o B E— 2
- OB E : vy s=16.0 KN/m3
- N EEIE A : $=20.0°
KB : 0= 0 KN/m2

- BE T & & OBEEAS - 6=10.00°

(3) L+
77— rOHERIZE D,

(4) Fptii

- TE O D B e —

- N EE I A : $=20.0°

KB : €=20. 0 KN/m2

- FEA M 7 B : fe= 160 KN/m2 (&A1) . 300 KN/m2 (%)
- JEC I OO BEER I : pw=tan20.0° =0. 364

(5) MEIOFEIGE (FR)
27 J—F
AR AT FE TR A : 0 28=21N/mm2
FFAEMES I 0 o ca=T7. ON/mm2
PR ABISE 1t ca=0. TN/mm2
- Bk
FFABIBRISJIE ¢ 0 sa=200. ON/mm2

(6) HAIAFEEE
a7 ) — |k © yc=24.0 KN/m3



§ 5.

5—1 ffEOFE (FE)

20

R CHERE (1.3m) OXEF

300

3, 50 D @ 3, 600
4,000
o w00 | @ ) 40
1, 400 0] 2,300
4, 000
Wi & K & D729 FAE @ =0. 00
BETS I & $RTELIH & D729 M 6=0. 00
BE BE A& & X H=4.00m
1) B &=
< sy £ A (2 EUEE | R R | WOMEE T—Ar b
X2 B A (n2) v (KN/m3) | WEN/m) | X (@m) | Wx(KN-m/m)
@D 7=CEE | 0.300X4. 200 = 1.2600| 24.0 30. 2400 1.550 46. 8720
@m0 E B 2. 300X 0. 400 = 0.9200| 24.0 22. 0800 2. 850 62. 9280
@ >F R 1. 400X 0. 400 = 0.5600| 24.0 13. 4400 0. 700 9. 4080
@ iE+ | 2.300%3. 600 = 8.2800| 16.0 132. 4800 2.850 | 377.5680
® L+
® wifEt
& F X — 198. 2400 — 496. 7760

B x=XWx/XW=496. 776/198. 240=2. 506m

2) ba#ifiE
b - - W=0




3) BEREIZ RIFET HE
Fo Al = AR AL
KA=

cos 2(p—0)

A [ / sin(¢+6)sin(¢>ﬁ)}
cos 20 cos(H+68) |1+
cos(B + 6)cos(9—8)

cos 2(20.00° —0.00")

2

cos 2(0.00°) Xcos(0.00" +10.00") X [1 +/

0. 8830

sin(20. 00" +10.00") Xsin(20.00" —0.00")

0. 5000 X0. 3420
1.0000X0.9848X | 1+

0. 9848 X 1. 0000
=0. 447

B ok s HE

}2

PA=1/2-KA- y -H 2=1/2X0. 447 X 16. 0 X 4. 000 2=57. 2160KN/m
PAX=PA-cos (6 + 0)=PA-cos(10. 00+0. 00) =57. 216 X 0. 9848=56. 3468KN/m

TR O
PAX : y=H/3=4.000/3=1. 333m

4) fafEOEE

cos (0. 00" +10.00") Xcos(0.00" —0.00")

&0 . H A (m T— A M (EKN'm/m

RO fv”(i P - o f (; o ( H.y)
() 198. 2400 — 2. 506 — 496. 7760 —
+ £ (PA) — 56. 3468 — 1.333 — 75. 1290
+JE (APA) — 0. 0000 — 2. 000 — 0. 0000
5 if b B
ATTA] b

= D) 198. 2400 56. 3468 — — 496. 7760 75. 1290

}2



5—2 WEMOWKE (W)
1) BB 2 MR

KHE— A > F Mr=XV-x=496. 776KNm/m

L — A > Mo=X H:y=75. 129KNm/m

A FOVERAIE d=Mr—Mo) / X V=(496. 776 —75. 129) /198. 240=2. 127m

W O OBf e=(B/2) —d=(4.000/2) —2.127=-0. 127m < B/6=4.000/6=0. 667m .. 0.K
fix B %2 4 #F F=Mr/Mo=496. 776/75. 129=6.612 > 1.5 .. 0.K

i 45 1) (BEHT) Lk 2 Mt |

% K 8 H £ omax=(ZV/B)- {1+ (6e/B)}

=(198. 240/4. 000) X {1+ (6 0. 127/4. 000) } Umi“\
=58. 998KN/m2 < 150. 0KN/m2 .. 0.K

AR ABIN S a RSV ) ‘ B

0 ma

R DOAE AT S A =B-2e=4. 000—2X 0. 127=3. 746m2/m

K T O e Fi Y H=56. 347KN/m

BENZ ST AHPT ) RH=C-A" + XV £ =20. 0X 3. 746+ 198. 240 X 0. 364=147. 081KN/m
B OE) e g F=RH/ L H=147. 081/56. 347=2.610 > 1.5 .. 0.K




5—3 ffEOFE (FE)

20

3, 600

W1

3 |

40

V1

V4 V2

1, 400 £OJ 2,300

V3

AAVA [ EQI) il

4, 000

Xn=(B/2) - {1+ (B/6e) } =(4. 000/2) X {1+ (4. 000/6X0. 127) } =12. 503m
V1=40. 122KN/m2  V4=46. 729KN/m2 V2=48. 144KN/m2 V3=58. 998KN/m2

W1=(3.600X16.0) + (0. 400X 24. 0) +0. 00=67. 200KN,/m2
W3=(0. 150X 16. 0) + (0. 400 X 24. 0) +0. 00=9. 600KN,/m2



1) 7=ChE (&EmED2/3%E5y)

PAX=1/2-KA+y *H 2-cos (10. 00" 4+0. 00" )=1/2X0. 447 X 16. 0 X 1. 333" 2X0. 9848=6. 261KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447 X 0. 0X 1. 333 X 0. 9848=0. 000KN/m

M=PAX-n+ APAX-n=1{6. 261 X (1. 333/3) +0. 000X (1.333/2) } X 10 5=278256Ncm/m

S=PAX+ APAX=(6. 261 +0. 000) X 10 3=6261N/m

D=30. 00cm d=23. 35cm j=20.431cm
at=M/ (ft-j)=278256/ (20000 X 20. 431)=0. 681cm2/m
¢ =S/ (fa-j)=6261/(140. 00X 20. 431) =2. 189cm/m

EAS D13-1827@ ———— > .. D13-200@ &5

n=15 b=100cm

p=As/ (b-d)=633. 500/ (1000 X 234) =0. 003

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2x15x0. 003+ (15X0. 003) "2} —15X0. 003=0. 245
j=1— (K/3)=1— (0. 245/3)=0. 918

Cmv s — b TERIS A
oc=2M/(k*j-b-d 2)=2X2782556/ (0. 245X 0. 918 X 1000 X 233. 5" 2)=0. 450N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
o s=M/ (As- j-d)=2782556/(633. 500X 0. 918 X 233. 5)=20. 480N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
t¢=S/(b*j-d)=6261/(1000X0. 918X 233.5)=0. 030N/mm2
<tca=0.7N/mm2 .. 0.K

2) ToCHE ([EEHER)

PAX=1/2-KA+ y H 2-cos (10. 00" +0. 00" )=1/2X0. 447 X 16. 0X 3. 600 2X 0. 9848=45. 641KN/m
APAX=KA-q-H-cos (10. 00" +0. 00" )=0. 447 X 0. 0X 3. 600 X 0. 9848=0. 000KN/m

M=PAX-n+ APAX-n={45. 641 X (3. 600/3) +0. 000 X (3.600/2) } X 10 5=5476905Ncm/m

S=PAX+ APAX=(45. 641+0. 000) X 10" 3=45641N/m

D=30. 00cm d=23. 20cm j=20. 300cm
at=M/ (ft-j)=5476905/ (20000 X 20. 300)=13. 490cm2/m
¢ =S/ (fa- j)=45641/(140. 00X 20. 300) =16. 059cm/m

Bdfs D13,D16-120@ ————- > .. DI3,D16-100@ &3 %

n=15 b=100cm

p=As/ (b-d)=1626. 500/ (1000 X 232)=0. 007

k=sqr{2np+ (n*p) 2} —n-p=sqr{2x15X0. 007+ (15X0.007) "2} —15X0. 007=0. 354
j=1— (K/3)=1— (0. 354/3)=0. 882

CmL s — b TERIS A
o c=2M/(k*j-b-d 2)=2X54769040/ (0. 354 X 0. 882X 1000 X 232. 0" 2) =6. 510N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 BRI T E
0 s=M/ (As* j-d)=54769040/ (1626. 500 X 0. 882 X 232. 0) =164. 580N/mm2
<o sa=200N/mm2 .. 0.K

a7 ) — oW WS T E
7 ¢=S/(b-j+-d)=45641/ (1000 X 0. 882 X 232. 0)=0. 220N/mm2
<tca=0.7N/mm2 .. 0.K



3) &R ([EEHER)

M1=(W1-B"2) /2=(67. 200 X 2. 300" 2) /2=177. T44KNm/m
S1=W1-B=67. 200 X 2. 300=154. 560KN/m

M2=(V2+2-V3) B 2/6=(48. 144+2 X 58. 998) X 2. 300 2/6=146. 480KNm/m
S2=(V2+V3) -B/2=(48. 144+58. 998) X 2. 300/2=123. 213KN/m

MZ‘MI—MZ =|177.744-146. 480 | X 10 5=3126425Ncm/m

S=1S1-S2|=|154. 560-123. 213 | X 10 3=31347N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=3126425/ (20000 X 29. 050) =5. 381cm2/m
¢ =S/ (fa-j)=31347/(140. 00X 29. 050) =7. 708cm/m

Bdfs D13,D16-302@ ————— > .. DI3,D16-200@ &3 %

n=15 b=100cm

p=As/ (b-d)=813. 250/ (1000 X 332) =0. 002

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2Xx15x0. 002+ (15X0. 002) "2} —15X%0. 002=0. 235
j=1— (K/3)=1— (0. 235/3)=0. 922

Cmv s — b TERIS A
oc=2M/(k*j-b-d 2)=2X31264250/ (0. 235X 0. 922X 1000 X 332. 0" 2)=2. 620N,/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI OB HEIS T E
0 s=M/ (As*j-d)=31264250/(813. 250X 0. 922 % 332. 0)=125. 610N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — OV AWS T E
7 ¢=S/(b-j-d)=31347/ (1000 X 0. 922 X 332. 0)=0. 100N/mm2
<t ca=0.7N/mm2 .. 0.K

4) iy ER (PR

M1=(W1- (B/2) "2) /2=(67. 200X 1. 150" 2) /2=44. 436KNm/m

S1=W1- (B/2) /2=67. 200X 1. 150=77. 280KN/m
M2={(V2+V3)/2+2-V3)} - (B/2) "2/6=(53.571+2>x58.998) X 1. 150 2/6=37. 816KNm/m
S2={(V2+V3) /2+V3} - (B/2) /2=(53. 571 +58. 998) X 1. 150/2=64. T27KN/m

MZ‘MI—MZ =144. 436-37. 816 | X 10 5=661994Ncm/m

S=1S1-S2|=|77.280-64. 727 | X 10 3=12553N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/(ft-j)=661994/ (20000 X 29. 050) =1. 139cm2/m
¢ =S/ (fa-j)=12553/(140. 00 X 29. 050) =3. 087cm/m

Blfs D13,D16-1427@ ————- > .. DI3,D16-200@ &3 %

n=15 b=100cm

p=As/ (b-d)=813. 250/ (1000 X 332) =0. 002

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2x15x0. 002+ (15X0. 002) "2} —15X0. 002=0. 235
j=1— (K/3)=1— (0. 235/3)=0. 922

Ly — b TERIS A
oc=2M/(k*j-b-d 2)=2X6619942/ (0. 235X 0. 922 X 1000 X 332. 0" 2) =0. 560N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 RIS T E
o s=M/ (As- j-d)=6619942/ (813. 250 X 0. 922 X 332. 0) =26. 600N,/mm2
<o sa=200N/mm2 .. 0.K

a7 ) — oW WS T E
7 ¢=S/(b-j-d)=12553/ (1000 X 0. 922 X 332. 0) =0. 040N/mm2
<t ca=0.7N/mm2 .. 0.K



5) >FJehic ([EEH)

M1=(W3-B0 2) /2=(9. 600 X 1. 400" 2) /2=9. 408KNm/m
S1=W3-B0=9. 600 X 1. 400=13. 440KN/m

M2=(V4+2-V1) -B0 2/6=(46. 729+2 X 40. 122) X 1. 400 2/6=41. 478KNm/m
S2=(V4+V1) -B0/2=(46. 729+40. 122) X 1. 400/2=60. T96KN/m

MZ‘MI—MZ =]9. 408-41. 478| X 10" 5=3206999Ncm/m

S=1S1-S2|=|13. 440-60. 796 | X 10" 3=47356N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=3206999/ (20000 X 29. 050) =5. 520cm2,/m
¢ =S/ (fa-j)=47356/(140. 00X 29. 050) =11. 644cm/m

Bdfs D13,D16-294@ ————- > .. DI3,D16-200@ &3 %

n=15 b=100cm

p=As/ (b-d)=813. 250/ (1000 X 332) =0. 002

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2x15X0. 002+ 15X0. 002) "2} —15X0. 002=0. 235
j=1— (K/3)=1— (0. 235/3)=0. 922

s — b TERIS A
oc=2M/(k*j-b-d 2)=2X32069990/ (0. 235X 0. 922X 1000 X 332. 0" 2) =2. 690N,/ mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
0 s=M/ (As* j-d)=32069990/ (813. 250 X 0. 922 X 332. 0) =128. 850N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW AWS T E
7 ¢=S/(b-j-d)=47356/ (1000 X 0. 922 X 332. 0)=0. 150N/mm2
<tca=0.7N/mm2 .. 0.K

6) >FEJCh (FRE)

M1=(W3- (B0/2) "2) /2=(9. 600 X 0. 700" 2) /2=2. 352KNm/m
S1=W3-B0/2=9. 600 X 0. 700=6. 720KN/m
M2={(V4+V1)/2+2-V1)}- (B0/2) "2/6=(43. 426+2 X 40. 122) X 0. 700" 2/6=10. 100KNm/m
S2={(V44+V1) /2+V1} -B0/2=(43. 426 +40. 122) X 0. 700/2=29. 242KN/m

M:‘MI—MZ =12.352-10. 100| X 10°5=774774Ncm/m

S={S1-S2|=6. 720-29. 242 | X 10" 3=22522N/m

D=40. 00cm d=33. 20cm Jj=29. 050cm
at=M/ (ft-j)=774774/ (20000 X 29. 050)=1. 334cm2/m
¢ =S/ (fa-j)=22522/(140. 00 X 29. 050) =5. 538cm/m

Bdfs D13,D16-812@ ————— > .. DI3,D16-200@ &3 %

n=15 b=100cm

p=As/ (b-d)=813. 250/ (1000 X 332) =0. 002

k=sqr{2n-p+ (n*p) "2} —n-p=sqr{2Xx15x0. 002+ (15X0. 002) "2} —15X%0. 002=0. 235
j=1— (K/3)=1— (0. 235/3)=0. 922

CaL s — b TERIS A
oc=2M/(k*j-b-d 2)=2X7747740/ (0. 235X 0. 922 X 1000 X 332. 0" 2)=0. 650N/mm2
<o ca=7.0N/mm2 .. 0.K

< BRI D5 T E
o s=M/ (As- j-d)=7747740/ (813. 250 X 0. 922 X 332. 0)=31. 130N/mm2
<o sa=200N/mm2 .. 0.K

s a7 ) — oW WS T E
7 ¢=S/(b-j-d)=22522/ (1000 X 0. 922 X 332. 0)=0. 070N/mm2
<tca=0.7N/mm2 .. 0.K
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